Rozlozit na soucin: Umocni:

a’-4= (o - 2)a + 2) (@a—5)° = ¢ =100 + 25
A2 -49= (3L - 72k + 7 (4b+32= 16k + 240 + 9
252 -1= (50 —1)(5¢ + 1) (6c—7)° = 360 —8hc + 49
8-18= ald -9 - ald - 3)d + 3) d+80%= o +fedy + 64t
2562 -25= 250 —1) = 5l - Nl + 1) Ge-T2= & —f& + 1
36R-100= 404 — 25 -2 -5 +5  (GF+Ngl= a5 + g+ g
3¢-3= 3lg—1lg+1 (@-062= ¢ —12g+ 036
2R -75= 302k - 53R + 5) O5h+3F = 025k + R + 9

08" —18 = o,:z(zrf —9) =02y -3+ 3  (25-61= 6,:25{l —30j + 36
6k + 087 = 36k + 96k + 06t
01m =027 = 00tm —004m + 004
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—r+—): —4 + 4+ =
5 4 25 5 16

x 2 1 2 2
§+9y) = X + 6xy + 8y



